ANE

9510
8553
TR0
ERL7
5706
4755
3804
2853
1302

951

ANE

9390
8451
7512
B573
EE34
4635
3756
2817
1873

933

INRFERBEABSHE-NX_E-HRHNB-EX

3507

9319

= R

E=1
2]
=
[
[2%]
=
o]
[
[
=
w
o
N
=
e
n
5]
=
o
n
=]
=
m
]
1
=3
1
[
o
=
=]
[
w
=
o
[
=

IR2FEHRBAB S ME-NXR_E-HRHNB-E

9381




INEFEREAZSHE-TE _S-HERB-#EA)
NE[

1380

1376

1242

1104

966

828

£30

552

414

276

138

IREFEREAZSHE-OE _S-HERBE-8Z2B)
NE[

7220

7219

6438

LT

5054

4332

3610

2888

2166

1444

722




IREFEREAZTHE-TE _S-HERB-ZE(©C)
NE[

3610

3601

3249

2088

2527

2166

1805

1444

1083

722

361




INBFEEREASSHE-NR _S-FERE (—)-Hind
NE[
1021

1030 1011
927
824
721
613
515
412
303
208

103

oo

10 15 20 25 30 35 40 45 50 55 60 E5 0 5 a0 a5 90 95 100

o
s

INEFEREAZSHE-TE _S-BERB(—)-ENHkimaE
NE[

430
441
292
343
234
245
136
147
93

43

0

=

=
2]
=
I
[
=
[
]
w
=
[
]
=
=
=
in
o
joafoal
i
in
@
=
@
]
-1
=
-1
"
@
=
o
]
w
=
w
2]
=

o
s



INBEEREAHSHE-HE _S-BERE—)-{EIE
NEL

170
153
136
119
102
as
63
51

34

=
[N -1

1IRBFERBEASSHE-NE_B-FERNB(—)-TREEESF
NEL

240
216
192
168
144
120
96
T2
43

24

omo

tn
=3
t
[
=
[
[
[
=
o)
w
e
=
ey
i
wn
=
i
i
o
k=1
m
wn
-3
=
-
w1
feie}
=
oo
wn
w
=
o
n
k=3

o
s



INBFEEREAHSHE-NE _SE-FXERE(—)-ReTE
NE[

950

345

8EL

TR0

(33

570

475

380

285

130

95

0

(LI =1
d

10 15 20 25 30 35 40 45 50 55 60 E5 0 5 a0

o
s

1IRBFERSEASSHE-NE_E-BERB(—)-LEHEEE
NE[

25

20

f=3 L=
=X ]

a5 90 95

=1
(LI =1

20 25 30 35 40 45 50 55 60 E5 0 5 a0

o
s

a5 90 95 100



INEFEREAZTHE-NE _S-BERE(—)-FHEHEEERRT
NE[

270
243
216
183
162
135
108
a1

54

2

=1
(LI =1

10 15 20 25 30 35 40 45 50 55 60 E5 0 5 a0 a5 90 95 100

o
s

INEFEREAFTHE-UE _S-BERE(—)-Emit
NE[

200
180
180
140
120
100
a0
60
40

20

4~

=1
=




INBFERBEABDGE-OKR_E-FXNB(—)-RFEH

NEL

230
207
1584
161
138
115
92
63
46

23

[N -1

20

25

30

35

40

45

50

IRRFERBABSME-NXR_E-BEXNE(—)-&iRkE

NEL

1320
1633
1456
1274
1092
910
728
546
364

182

1812

=

55

60

E5

0

5

a0

a5

90

100

[N -3

20

25

30

35

40

45

50

=

55

60

E5

0

5

a0

a5

90

p=3 Ry
=X ]



12BEERAABA FE- S BN () B
NE[

3k

35

28

21

(LI =1

IRBFEREARSGE-MR_F-FEEXRE(—)-KEH
NE[

35
28

21

[ =)
SR C




112

BEERAANS HE-NR S SENE ) BIRYRE

NE[

270

243

216

183

162

135

108

a1

54

2

26

oMo

=
Lgo
Lwo
g

IRBFERBEASSHE-NE_E-FERNB(—)-BHKEE 73
NE[

2500

2250

2000

1750

1500

1250

1000

750

500

250

2493




INBFEEREASSHE-NR _E-FEHE (—)-KENH#
NE[

750

48

E7L

600

525

450

s

300

225

150

75

0

= =1

(LI =1
=

15 20 25 30 35 40 45 50 55 60 E5 0 5 a0 a5 90 95

o
s

1RBFERSEAISHE-NE_E-BERB(—)-BEINER
NE[

s 2153 2197
1380
1760
1540
1320
1100
830
BB

440

220

;o
= ]

15 20 25 30 35 40 45 50 55 60 E5 0 5 a0 a5 90 95 100

o
s



INBFEREASSHE-NR _E-FEHE O
NE[

1080

1073

972

864

756

648

540

432

324

216

108

1
f= —
=R |

10 15 20 25 30 35 40 45 50 55 60 E5 0 5 a0 a5 90 95

o
s

1RBFERSEASSHE-NE_E-FERB((O)- ki
NE[

370
333
296
253
222
185
148
111
T4

ar

0

0 5 10 15 20 25 30 35 40 45 50 55 60 E5 0 5 a0 a5 90 95 100

o
s



IRBFERSEASSHE-NE_B-EBERBCO)-BHRESFHEKE
NEL

1330

1382

1251

1112

73

834

B35

556

417

2va

139

[N =1

IRBFERSEASSHE-NE_B-BERBCO)-BEHREEFHESE
NEL

1100

1038

930

ag0

0

BB

550

440

330

220

110

Ll Bl




INBFEREAHSHE-NE_E-FXEHNECO)ELH#
NE[

210 207
189
168
147
126
105
a4
63
42

21

=
[N -1

1IRBFERBEASSHE-NE_B-BERNB((CO)-TREEESF
NE[

220
138
176
154
132
110
a3
66
44

22

=
[N -3




INBFEREASSHE-NR_E-BEHE(O)-ReTE#
NE[

640
L
512
443
384
320
256
132

128

o
s

1IRBFERSEASSHE-NE_B-BERB((CO)-LEHEEE
NE[

=1
(LI =1

10 15 20 25 30 35 40 45 50 55 60 E5 0 5 a0 a5 90 95 100

o
s



IRBFERBEAISHE-NE_E-BERB((O)-BHEHEREF
NE[

2760

2757

2484

2208

1332

1656

1380

1104

828

552

276

oo

10 15 20 25 30 35 40 45 50 55 60 E5 0 5 a0 a5 90 95 1

o
s

1IRBFERSEASSHE-NE_B-BERB((CO)-FHEHEEE
NE[

340
306
a2
238
204
170
136
102
63

34

0

SR C
= =




INBFEEREAHSIHE-HE _S-BERECO)-Emit
NEL

220

213

192

176

154

132

110

a3

66

44

22

1IRBFERSEAISHE-NE_B-BERB(CO)-KHMBENFRE
NEL

220
138
176
154
132
110
a3
66
44

22

=
[N -3




INBFERBEABSGE-OKR_F-FRXNBO)-RBBEEERRAE

NE[

330
351
a1z
23
234
135
156
117
3

33

0

(LI =1

384 281

IRRFERBABSHE-NXR_E-BEXNE(O)-=XE

NE[

270
243
216
183
162
135
108
a1

54

2

269

(LI =1

SR C

20

25

30

35

f=3 Ry
=X ]

]
40 45 50 55 60 E5 0 5 a0 a5 90 95

o
s



NE[

320
petsr]
256
224
132
160
128
96

64

32

1RBFERSEAISHE-NE_E-FBERB((CO)-IINEHHEE
NE[

130
171
152
133
114
95
6
57

i

=
[N -3




INBFEREASSHE-NR_E-FEHNEO)-Bikd#
NE[

1510

1503

1359

1208

1057

906

755

604

453

302

151

=1
(LI =1

INEFEREAFTHE-UE _S-BERECO)-B5H
NE[

3k

28

21

=1
(LI =1
= =1

=

10 15 20 25 30 35 40 45 50 55 60 E5 0 5 a0 a5 90 95

o
s



INBFEREAHSHE-NR_E-FEHNECO)-KEH
NE[

30

24

=
[N =1

1RBFERSEAISHE-NE_E-FBERB((CO)-Bi R
NE[

200
180
180
140
120
100
a0
60
40

20

L]
LI =
Ly
Lwo

omo

=



